Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM **WELL HISTORY - DESCRIPTION OF WELL & LEASE**

007.04004.0004	ORIGINAL
API No. 15 - 097-21224-0001	
County: Kiowa	approx. 150' w of
<u>nw_ne</u> _{Sec} 32 _{Twp} 3	<u>30</u> s. R. <u>18</u> ☐ East ☑ West
4620 feet from (S	/ 1x (circle one) Line of Section
	/ W (circle one) Line of Section
Footages Calculated from Nearest Ou	itside Section Corner:
(circle one) NE (SE)	NW SW
Lease Name: Emerson-Caraway	Trust Well #: 1
Field Name: Alford	
Producing Formation: N/A	
Elevation: Ground: 2163	Kelly Bushing: 2168
Total Depth: 5104 Plug Back Tota	I Depth: N/A
Amount of Surface Pipe Set and Ceme	ented at 617 already set Feet
Multiple Stage Cementing Collar Used	? ☐Yes ☑No
If yes, show depth set	Feet
If Alternate II completion, cement circu	lated from
feet depth to w/	sx cmt.
	Mwort W 8-8
Drilling Fluid Management Plan (Data must be collected from the Reserve Pl	· - ·
Chloride content 4,500 ppm	Fluid volume 300 bbls
Dewatering method used_Hauled to	SWD .
Location of fluid disposal if hauled offs	ite:
Operator Name: <u>Advantage Resou</u>	ırces
Handy D #4	6007

Name: Oil Producers Inc. of Kansas Address: P.O. Box 8647 City/State/Zip: Wichita, KS 67208-0647 Purchaser: N/A Operator Contact Person: Diana Richecky Phone: (316) 681-0231 Contractor: Name: Val Energy, Inc. License: 5822 Wellsite Geologist: ____ Designate Type of Completion: ____ New Well ____ Re-Entry _swd _ _SIOW _ LO L _Temp. Abd. __ENHR _____SIGW Gas ____ Other (Core, WSW, Expl., Cathodic, etc) If Workover/Re-entry: Old Well Info as follows: Operator: Abercrombie Drilling, Inc. Well Name: Emerson Original Comp. Date: 11/19/86 Original Total Depth: 5104 __ Deepening Re-perf. ____Conv. to Enhr./SWD __ Plug Back_ Plug Back Total Depth Commingled Docket No._ __ Dual Completion Docket No._ ___ Other (SWD or Enhr.?) Docket No._ Lease Name: Hardy B #1 ___ License No.: 6927 11/20/2003 11/22/200:**~** Quarter_ne/4_ Sec. 24__ Twp. 28 s. R. 18 East ✔ West Spud Date or Date Reached TD Completion Date or Docket No.: D-24,161 Recompletion Date Recompletion Date County: Kiowa INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-

107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.

All requirements of the statutes, rules and regulations promulgated to regulate the oil and nerein are complete and correct to the best of my knowledge.	I gas industry have been fully complied with and the statements
nerein are complete and correct to the best of my knowledge.	·

Signature:_ Title: President

Subscribed and sworn to before me this $\frac{29\,th}{day}$ of $\frac{July}{day}$

18 2003

KCC Office Use ONLY
Letter of Confidentiality Attached
If Denied, Yes Date:
Wireline Log Received
✓ Geologist Report Received
UIC Distribution

ammission Axailes Nicheman on Notary Public - State of Kansas My Appt. Expires

Operator: License # 8061

Operator Name: Oil Pro	oducers Inc. o	f Kansas	}	Leas	se Name:_t	merson-Ca	raway Trust	. Well #: _1		
Sec. 32 Twp. 30	_s. _{R.} 18	East	✓ West	Coun	ty: Kiow	a		<u>i</u>		
INSTRUCTIONS Show tested, time tool open ar temperature, fluid recove Electric Wireline Logs su	nd closed, flowing ery, and flow rate	g and shut- s if gas to	in pressures, surface test, a	whether : along with	shut-in pre	ssure reached	static level, hydro	static pressur	es, bottom hole	
Drill Stem Tests Taken (Attach Additional She	eets)	Y€	es ✔ No		L	-	on (Top), Depth a		Sample	;
Samples Sent to Geolog	ical Survey	∐ Y∈	s V No		Nam	9		Тор	Datum	
Cores Taken		Ye	es 🗸 No							
Electric Log Run (Submit Copy)		∠ Y∈	es No							
List All E. Logs Run:										
Dual Receiver Cem	nent Bond Log		-	٠						
		Repor		RECORD		w Used rmediate, produc	tion, etc.			
Purpose of String	Size Hole Drilled	Siz	e Casing (In O.D.)	W	eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Pero	
Production	Dilliod	4 1/2	(0.5.)	10.5		5104	See Note 1	140	See Note 1	
·	· . · . · . · . · . · . · . · . · . · .			<u> </u>						
							<u> </u>			
			ADDITIONAL	CEMENT	ING / SQL	EEZE RECORE)		_	
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Туре	of Cement	#Saci	ks Used		Type and Pe	ercent Additive		
Shots Per Foot			D - Bridge Plu Each Interval Pe		e	Acid, Fra		pth		
			· · · · · · · · · · · · · · · · · · ·							
TUBING RECORD	Size	Set At	· · · · · · · · · · · · · · · · · · ·	Packer	·At	Liner Run	: · Yes No			
Date of First, Resumed Pro	oduction, SWD or E	nhr.	Producing Met	hod	Flowing	Pumpi	ng Gas Lift	t Oth	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	r E	Bbls. G	as-Oil Ratio	Grav	rity
Disposition of Gas	METHOD OF (COMPLETIC	N ,			Production Inter	rval			
Vented Sold [Used on Lease		Open Hole	Pe	erf. D	ually Comp.	Commingled	,	_	

ORIGINAL

Attachment 1

Note 1:

Production Casing 140 sacks

AA-2

2% cc with gas block 10% salt, FLA-322

RECEIVED

JUL 3 0 2003

KCC WICHITA



RECEIVED

JUL 3 0 2003

KCC WICH 5 1 2003

Suite # 420

Wichita KS 67202

(316) 262-3699

(316) 262-5799 FAX



10244 NE Hiway 61 10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (316) 672-1201 (316) 672-5383 FAX

ACIDIZING · FRACTURING · CEMENTING

Invoice

Bill to:	6395	901 Invo	ice Invo	ice Date 0	rder Or	Order Date 11/22/02	
Bill to:	OIL PRODUCERS INC. OF KANSAS	2110	93 11	/27/02 5	543 1		
	P.O. Box 8647			Service Descrip	tion		
	Wichita, KS 67208	Cement					
	wichita, KS 0/200			•			
			Leas		We	17	
			Emerson-C				
AF	E. CustomerRep Treater	Well		urchase Order	Tern	ns.	
	B. McCoy D. Scott	Old Wel		_	Net :	30	
<u>ID.</u>	Description	<u>UOM</u>	Quantity	Unit Price	Price	<u></u> -	
D105	AA2 (PREMIUM)	SK	140	\$13.56	\$1,898.40	(T)	
:D203	60/40 POZ (COMMON)	SK	35	\$7.75	\$271.25	(T)	
C196	FLA-322	LB	106	\$7.25	\$768.50	(T)	
C223	SALT (Fine)	LBS	721	\$0.35	\$252.35	(T)	
C313	GAS BLOCK POWDER	LB	99	\$5.00	\$495.00	(T)	
C322	GILSONITE	LB	660	\$0.55	\$363.00	(T)	
C141	CC-1, KCL SUBSTITUTE	GAL ·	2	\$40.00	\$80.00	(T)	
C302	MUD FLUSH	GAL	500	\$0.75	\$375.00	(T)	
C303	SUPER FLUSH	GAL	250	\$3.25	\$812.50	(T)	
F100	CENTRALIZER, 4 1/2"	EA	4	\$67.00	\$268.00	(T)	
F150	LATCH DOWN PLUG & BAFFLE, 4 1/2"	EA	1	\$230.00	\$230.00	(T)	
F180	AUTO FILL FLOAT SHOE, 4 1/2"	EA	1	\$230.00	\$230.00	(T)	
E107	CEMENT SERVICE CHARGE	SK	175	\$1.50	\$262.50	(T)	
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	40	\$3.00	\$120.00	(T)	
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	I TM	326 [°]	\$1.25	\$407.50	(T)	
R211	CASING CEMENT PUMPER, 5001-5500'	EA	1	\$1,850.00	\$1,850.00	(T)	
:R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00	(T)	
		ı		Sub Total:	\$8,934.00		
				Discount:	\$2,948.22		
				t Sub Total:	\$5,985.78		
		Tax Rate:	6.30%	Taxes:	\$377.10	_	
	(T)) Taxable Item		Total:	\$6,362.88		

• • • •	1				ORIG	INAL
	INVOICE NO.	Subje	ct to Correction	FIE	D ORDER	5543
AC	Daje 11-22-02	Emenso	n-Carau	Well #	Legal -	30 - 18
SERVICES	Customer ID	County	wa	State	5 Pron	415
g Dil Produ	ucers Inc of KS	Depth	Formation 79 =		Shoe joint	<u>.</u>
A R	, '	Customer Repre	Casing Depth	3104	Job Type	Long String
G E		Brian	M'Coy	,	D Scott	,
AFE Number	PO Number	Materials	v Z		12-	
Product		Received by	X	~4/	AC	COUNTING
DIOS 1405Ki	MATERIAL, EQUIPMENT and SE		UNIT PRICE	AMOUNT	CORRECTION	ECEIVED
D203 355Ki	60/40 202, Co	m mon				
C196 106 16	; FLA-322		/			3
C223 921 16.	Salt fine				KC(WICHITA
C313 99 lb;	Gas Blok					1
C322 660 15	6:1/sonite					
C141 2 gal	CC-		<i>V</i>			
(302 500ga)	li Super flush		/			1
F100 4 Cg	Centralizers 3	1/2 1'4	1			
F150 Eq	K.D. Plug & Bald		~			
F180 / C9	Auto fill floor Sho	c *1				
· · · · · · · · · · · · · · · · · · ·		 	<u> </u>	,		
				<u> </u>		
	 					
			-			
				 		-
E107 1255Ki	Emt Serv Cha					
E100 / 189	UNITS / La Q Y MILES	40				
F104 326+m	TONS / Way MILES	40	-			
R211 / Ca	EA. 3001-3500 PUMP CHA					
1701 169	TIZ UMT MEARK	EAT4/			 	+
	Discounted &	rice =	5985. 78	<u> </u>	 	+
		<u> </u>				
√10244 NE Hiway 61 - P.0	D. Box 8613 · Pratt, KS 67124-86	13 · Phone (62	0) 672-1201 · Fa	ax (620) 672-538	3 TOTAL	

ORIGINAL TREATMENT REPORT

$\frac{9}{12}$	7					,					U	NL/	1 I I	VILLIVI I	\L.F	ÜK			
Q.							Cus	stomer II	<u> </u>				1	Date					
			IF	7	,		Cus	stomer	·/ D.		4'		\dashv	11-	11.	~ <i>M</i> -	2		
SER	V 1 C			c			Les	80		1	cers		+	ease No.	Ø &		Well #		
Field Order		Station			1/0		l	-11	Casing L	1/h	Depth,	7——	+	County //	16 W			Sta	ite i/C
7543 Type Job 1			- / 4	#1							ا کر ا nation	03			Legi	Q al Desopi	iption 6		16 165
	orgs				W W		DAT	Α.		<u> </u>	ISED								
	PE DATA	bing Si	ze	Shots/F	RFORA	TING	DAI	_		LUID (,		1	DATI		ESS	T RESUM	л⊑ 	-
Casing Size		_			-	<u> </u>			Acid / 40 5 /4 Pre Badz	JA A		105			-		5 Min.		
3668 Volume		pth //	-	From	 	То			5 76.1	,75	600 B	10/	Min	% Fla	1-132	2	10 Min.		
79,9 May Press		х Ртевя		From		То			355/11 Frac £	601	40 pc	0Z	Avg		+		15 Min.		
Max Press Well Connec		nulus V		From		То			1,44	13/5	Oppo	-	Ū	Used			Annulus Pressure		
Plug Depth		cker De		From		То			35, 9	<u>[{ } } </u>	ح حر			Volume			Total L		
				From	 	То	04-47-		Plush JENEL	M.	L. x S.	, F.	Gas				- I Chair L		
Customer Re	presentati	Br.	<u>`an</u>	M	16y			n Manag	* Da	ye	Auth	4		Treater	<u>D, 3</u>	60-	#		
Service Units				106	33		5	1	30	1									
Time	Casir Pressi			oing seure	Bbis.	Pumpe	d		Rate	<u> </u>					rice Log				
1200										01	loc	WIT	FKI	Saf	My	mt	tg		
										Fi	Son	Bot	to	n h, D.	Bas	Hje		ک	:J.
						,, 				Co	nt	1-3	<i>م</i> ح	- 10	٠		J		
1453	300	2			á	14			<u>6</u>	5	t á	16	Ŀ	CL			R	EC	EIVED
1458	400	2			- /	2			6	St	- Mo	ud	F	lush					
1500	400	2			5			Å	<u> </u>	H	20.	Sp	, a (cen			JC	IL 3	Û 2003
1302	400				6			€)	5	+ 5	400	, <u>(</u>	Flus	·h		KCC	: W	ICHITA
1304	400	2			3	_		6	•		20	56)a	<u> </u>	,				
1507	300				3			() 	Mi	'x 50	cov	Ch	ger (14+ 2	0/	1.00	 1)	105K
1308				į	35	,9			<i>/</i>	Mix	•					05	10,10	J	,
15/7					\int_{0}^{∞})	ĺ	6	>		se -	In	4	Dpg Was	f L	ردمی	24/	<u>'</u> 'h €	
1519	100						Ĭ	8	3	Re	caso	9	ار ه	d 5+	7),	in h	1/120		
1527	500				62	}		7	0	hi	++1	~ q /	Pin	1	J BL	51;	\sim		24+
1532	1600				19	,9		1	5	PI	10 10	1 L N	r i -	05.	د رسی	+ 12	Sci		
	,				, , , , , , , , , , , , , , , , , , , 					Rel	ecsc	- 115	, /	Helo			V		
1345					5					P)	14 R	. H.		MiH	W/	25 s/e	1: 601	40) Po 2
,							\exists		·	60	al (dike	, 1	Duri	<u></u>	<u></u>	7	<u> </u>	100
							\dashv					<u> </u>		4.1	- 5				
							\exists			-	500		Mri	dete					<u></u>
	+						 -			┼──			•••	444					

10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • Phone (620) 672-1201 • Fax (620) 672-5383